\

TIG_WELD

INNER
LABYRINTH
BACK SEAL

'’ SLOTTED T-t-
HOLE L
C SR I 0 1l . lrﬁlﬂ,“’l
'H’ SUPPORTING ' M B ' ‘
13 BASE OF CHANNEL . I ‘ o gh o) |
| T g

MATERIAL OF ROLL | TUBE AS PER IS 9295-1993
TUBE THK.-6.3 mm

SHAFT @ @30 mm (C-40, 1S 9550)
DEEP GROOVE BALL BEARING
BEARING SKF/FAG 6306 ZZ

ROLL MOUNTING | DROP IN SLOT TYPE
TYPE OF FRAME CHANNEL BASE
LUBRICATED FOR LIFE

> -
- E LUBRICATION SERVG GEM EP.2
¢ A NOTE :-
—ﬁug" 1) ALL ROLLER AND HANGER/FRAME SHOULD BE PAINTED WITH ONE
COAT OF ZINC CHROMATE PRIMER AND TWO COATS OF
SYNTHETIC ENAMEL PAINT .
WEATHER
SEAL 2) ROLLER SHOULD BE GREASE PACKED AND SEALED FOR LIFE. ROLLER
‘ k SHOULD BE PROVIDED WITH A MULTI-LABYRINTH NON CONTACT TYPE
DUST_SEAL SEAL TO KEEP DUST AND MOISTURE AWAY FROM THE ROLLER BEARING.
ASSEMBLY  BRG.63062Z WATER PROOF WEATHER CAP TO BE PROVIDED AT THE ROLLER END
e TO PREVENT WATER ENTERING FROM OUT SIDE. ROLLER SHOULD BE
DETAIL - "A PROVIDED WITH BACK SEAL TO PREVENT GREASE ENTERING INSIDE THE ROLLER.
_— =" R i
BELTSIZE| A | B | C | @D ETFlclersEn] 1 T3 ITmlL URANIUM CORPORATION OF INDIA LTD. TURAMDIH MINES
1000  |1290| 30 | 380 | 127 | 275 | 200 | 260 | 100 x 50 |M12| 348 | 14 | 25 v RN OF DI CHIEWR e LR 1 OF (e s
1200 1490| 30 | 465 | 139.7 | 275|200 | 260 | 100x50 |[M16( 380 | 18 | 25 DRN. Rajesh 20.10.11 | TITLEN"
1400 1690| 30 | 530 | 139.7 | 290 | 200|260 | 125x65 |M16| 408 | 18 | 25 CHECKED TROUGHING IDLER
1600 1900| 30 | 600 | 152.4 | 300|200 (260 |150x75 |M16|448 | 18 | 30 APPROVED SKG
SKG |04.03.14 DIMENSION CHANGED . | scALe-nTS
REV|REV. BY| DATE DESCRIPTION | DIMENSIONS IN MM DRG.NO.- UCT-1 / MECH/CONV./ IDLER /52 |REV.-2

A4




S TITT77777777
.

I" SLOTTED [~1-
HOLE

" 'H’ SUPPORTING
BASE OF CHANNEL

TIG_WELD

OUTER

LABYRINTH
INNER

LABYR

INTH

MATERIAL OF ROLL|_TUBE AS PER IS 9295-1993__
NSILE STRENTH-180 KG/CMZMIN,
sl e REBOUND RESILIENCE 5%
ELONGATION-550 % MIN.
SHAFT @ 230 mm (C-40, IS 9550)
BEARING DEEP GROOVE BALL BEARING SKF/FAG 6306 2Z
ROLL MOUNTING _| DROP IN SLOT TYPE
TYPE OF FRAME _| CHANNEL BASE
LUBRICATION LUBRICATED FOR LIFE_SERVO GEM EP-2

NOTE - 1) ALL ROLLER AND HANGER/FRAME SHOULD BE PAINTED WITH ONE
COAT OF ZINC CHROMATE PRIMER AND TWO COATS OF
WEATHER, SYNTHETIC ENAMEL PAINT .
SEAL 2) ROLLER SHOULD BE GREASE PACKED AND SEALED FOR LIFE. ROLLER
P SHOULD BE PROVIDED WITH A MULTI-LABYRINTH NON CONTACT TYPE
\ "ASSEMBLY SEAL TO KEEP DUST AND MOISTURE AWAY FROM THE ROLLER BEARING.
WATER PROOF WEATHER CAP TO BE PROVIDED AT THE ROLLER END
TO PREVENT WATER ENTERING FROM OUT SIDE ROLLER SHOULD BE
DETAIL - "A" PROVIDED WITH BACK SEAL TO PREVENT GREASE ENTERING INSIDE THE ROLLER.
TUBE O.D. g
BELTSIZE | A | B | C | @D "y ] E | F | G |BASE™| | | J | M | L P} URANIUM CORPORATION OF INDIA LTD. TURAMDIH MINES
1000 1290| 30 | 380 | 152 | 88x6.3 | 275|200 | 260 [ 100 x 50 [ M12] 348 | 14 | 25 age (A GOVT. OF INDIA ENTERPRISE, DEPT. OF ATOMIC ENERGY)
1200 1490| 30 | 465 | 190 [139x6.3 | 275 | 200 | 260 | 100 x 50 [ M16| 380 | 18 | 25 [pry. Rajesh g
1400 1690| 30 | 530 | 190 [139x6.3 | 290 | 200 | 260 | 125 x 65 [ M16| 408 | 18 | 25 SHECKED
| IMPACT IDLER
——{ APPROVED SKG
3 | SKG |04.03.14 DIMENSION CHANGED . | scALe-nTS
REV [ REV.BY | DATE DESCRIPTION DIMENSIONS IN MM DRG.NO.- UCT-I / MECH/CONV./ IDLER /53 lREV.- 3

A4




\-@*
A k:‘ -1 f.
ISMC 100 NE-7-4
\ S
N A
I’ _SLOTTED [[~1-1
HOLE L
( ' H 9‘
SN
T i :r
B l F 10 THK.
yiig? G PLATE
OUTER ISMC 150 H SUPPORTING !
CABYRINTH mald BASE OF CHANNEL
LquYNRESTH 9 MATERIAL OF ROLL| TUBE AS PER IS 9295-1993
BACK SEAL TENSILE STRENTH-180 KG/CM2 MIN,
‘ﬁi . PROPERTIES OF | REBOUND RESILIENCE:60%
\ ELONGATION - 550 % MIN.
TIG WELD| _— 5 \ SHAFT @ @30 mm (C-40, IS 9550)
_>| Y BEARING TAPER ROLLER BEARING SKF/FAG 30306 ZZ
22, SHAFT ROLL MOUNTING | DROP IN SLOT TYPE
» " SEC. X-X TYPE OF FRAME | REINFORCED CHANNEL BASE
W@ ‘%‘ = e e '2 % LUBRICATION LUBRICATED FOR LIFE SERVO GEM EP-2
6
3 }g X N 6 10 THKR N NOTE :- 1) ALL ROLLER AND HANGER/FRAME SHOULD BE PAINTED WITH ONE
’ — b N COAT OF ZINC CHROMATE PRIMER AND TWO COATS OF
IDLER NN SYNTHETIC ENAMEL PAINT .
WEATHER TUBE 2) ROLLER SHOULD BE GREASE PACKED AND SEALED FOR LIFE. ROLLER
SEAL SHOULD BE PROVIDED WITH A MULTI-LABYRINTH NON CONTACT TYPE
1 SEAL TO KEEP DUST AND MOISTURE AWAY FROM THE ROLLER BEARING.
% CIRCLIP PULLEY S __L WATER PROOF WEATHER CAP TO BE PROVIDED AT THE ROLLER END
BRG.30306 72 100 TO PREVENT WATER ENTERING FROM OUT SIDE ROLLER SHOULD BE
: 0 PROVIDED WITH BACK SEAL TO PREVENT GREASE ENTERING INSIDE THE ROLLER.
DETAIL - "A" SEC.Y-Y
URANIUM CORPORATION OF INDIA LTD. TURAMDIH MINES
TUBE O.D. T
BELT SIZE | A B C | @D |'% TH% E F G | BASE'H'| | J M | L @ (A GOVT. OF INDIA ENTERPRISE, DEPT. OF ATOMIC ENERGY)
1600 1900| 30 | 600 | 190 |139x6.3 | 300 | 200 | 260 [ 150 x 75 | M16| 448 | 18 | 30 [pgrn. Rajesh 20.10.11 | TITLE
CHECKED IMPACT IDLER FOR 1600 WIDTH
2 | SKG |29.01.14 | REINFORCED CHANNEL BASE DETAIL ADDED APPROVED SKG BELT CONVEYOR
1 | SkG | 10,0813 | DESIGN CHANGF%% &;5;53&:5 Zr—‘?gngnv;LnéTZ;o CHANNEL) BRG.CHANGED | SCALE - NTS
REV | REV.BY | DATE DESCRIPTION DIMENSIONS IN MM DRG.NO.- UCT-I/MECH/CONV./IDLER /53 A |REV.-2

A4




FLAT 100x6 e
o N T e——— SLOTTED
HOLE
AT R N
e . 'H’ SUPPORTING
BASE OF CHANNEL w

MATERIAL OF ROLL| THEEASF LI R a0

SHAFT & @30 mm (C-40, IS 9550)
N NN \\\\\\\\\——\\\\\\\\\\\\-I.\\\\\‘
272 11 R, 1 DEEP GROOVE BALL BEARING
] i \'® i BEARING SKF/FAG 6306 ZZ .

ROLL MOUNTING | DROP IN SLOT TYPE
TYPE OF FRAME CHANNEL BASE

LUBRICATED FOR LIFE
LUBRICATION SERVO GEM EP-2

?28 NOTE :-
|"—’|— ] 1) ALL ROLLER AND HANGER/FRAME SHOULD BE PAINTED WITH ONE
[ ) ¢20J6 COAT OF ZINC CHROMATE PRIMER AND TWO COATS OF
| 150x140 : 1 SYNTHETIC ENAMEL PAINT .
110x110 8 0 W 2) ROLLER SHOULD BE GREASE PACKED AND SEALED FOR LIFE. ROLLER
e \@ SHOULD BE PROVIDED WITH A MULTI-LABYRINTH NON CONTACT TYPE
e R - I SEAL TO KEEP DUST AND MOISTURE AWAY FROM THE ROLLER BEARING.
_f . . Ty :*: WATER PROOF WEATHER CAP TO BE PROVIDED AT THE ROLLER END
i 5 b TO PREVENT WATER ENTERING FROM OUT SIDE ROLLER SHOULD BE
2 _.I_I..—Mj_z PROVIDED WITH BACK SEAL TO PREVENT GREASE ENTERING INSIDE THE ROLLER.
4 NOS.M8x9 N i $80.5 bl

DEEP TAP HOLE ON 2 t@v URANIUM CORPORATION OF INDIA LTD. TURAMDIH MINES
90'AT 60 P.C.D 968 (A GOVT. OF INDIA ENTERPRISE, DEPT. OF ATOMIC ENERGY)

BELTSIZE{ A [ B [ C |@D| E [ F | G [BASE'H[ I [M [ L [IDLER BRG. NO|°R" MR o,
1000 [1290| 30 | 380 | 127 | 275 | 200 | 260 | 100 x 50 | M12 | 14 | 25 6306 ZZ IO _| SELF_ALIGNING TROUGHING IDLER
1200 |1490| 30 | 465 [139.7| 275|200 | 260 | 100 x 50 [ M16| 18 | 25 6306 ZZ APPROVED SKG z /
1400 |1690| 30 | 530 [139.7] 290 | 200 | 260 [ 125 x 65 | M16| 18 | 25 6306 ZZ SCALE - NTS ¥
1600 1900 30 600 152.4 300 | 200 | 260 150 x 75 M16 18 30 6306 ZZ DIMENSIONS IN MM DRG.NO.- UCT-1 /| MECH/CONV/ IDLER /54 [REV.-2




TYPE OF FRAME CHANNEL BASE

LUBRICATED FOR LIFE
tingIcATION SERVO GEM EP-2

( A . ‘———/-l’s‘* CAP
| ‘B’ CRS
BELT TRAVEL
ISMC_75 ‘ 'C’ ROLL LENGTH L™ CASING :
S ” SEAL } BRG.548816 A
1 I ﬂ I 7
| g I]' '
I
w : L | | | ;
| ﬁ?\ l E !
! 5 i N S e > . 5 T o I N : ;
i
: : / ! } "C"
[ S p—— . — - — ———— — ——— —— — — — - — — — — — —— —— — - — — ———— > ——— —. — — . —— .- ) '
=" i i : CAP
4 | B : SHAFT
|
T : : Il 1
_1{ i il
1
| o
i |
OUTER J
LABYRINTH DETAIL-"C"
INNER RS
LABYRINTH R
1 S S 9 7 BACK SEAL MATERIAL OF ROLL | TUBE AS PER IS 9295-1993
%)2!-:?))\))22\)))2//?//5‘»%)})\}252)}‘_ @) TUBE THK.-6.3 mm ’M16
man ey s\ @ O\t nana AR 5 SHAFT 0 230 mm (C-40, 1S 9550)
&nk\\\\\\\\\\\n\\\\\\\\\\xnw LRI |7 N — BEARNG | PEELCROOVE BALL BEARING
T/ - 0 (0T /
B B / ROLL MOUNTING _| DROP IN SLOT TYPE
%
<

B
N

NOTE :-

1) ALL ROLLER AND HANGER/FRAME SHOULD BE PAINTED WITH ONE
COAT OF ZINC CHROMATE PRIMER AND TWO COATS OF
SYNTHETIC ENAMEL PAINT .

2) ROLLER SHOULD BE GREASE PACKED AND SEALED FOR LIFE. ROLLER
SHOULD BE PROVIDED WITH A MULTI-LABYRINTH NON CONTACT TYPE
SEAL TO KEEP DUST AND MOISTURE AWAY FROM THE ROLLER BEARING.
WATER PROOF WEATHER CAP TO BE PROVIDED AT THE ROLLER END
TO PREVENT WATER ENTERING FROM OUT SIDE ROLLER SHOULD BE
PROVIDED WITH BACK SEAL TO PREVENT GREASE ENTERING INSIDE THE ROLLER.

. 150x140 .

\“
‘\§§\\\\@§ll§§
-

PULLEY BELTSIZE[ A [ B [ c [@Dp| E | K [ L | ™M [IDLER BRG.NO.

1000 1340(1290(1150| 127 | 138 | 200 [ 25 | 14 6306 ZZ

110x110 ‘
'ﬁ DUST SEAL
'—1 ;}: ASSEMBLY BRG.6306Z
I

1200 15601490(1400(139.7| 150 | 240 [ 30 | 16 6306 ZZ

1400 1740(1690(1600/139.7| 150 | 240 [ 30 | 18 6306 ZZ

1600 1950{1900(1800 [152.4| 151|225 |30 | 18 6306 ZZ

URANIUM CORPORATION OF INDIA LTD. TURAMDIH MINES
(A GOVT. OF INDIA ENTERPRISE, DEPT. OF ATOMIC ENERGY)

8
2

e

182 iy 4 NOS.MBx9 DRN. Rajesh 11.11.11 | TITLE
DEEP TAP HOLE ON 280 CHECKED
90'AT 60 P.C.D. / SELF ALIGNING RETURN IDLER
APPROVED SKG \/
SCALE - NTS
DIMENSIONS INMM DRG.NO.- UCT-1 / MECH/CONV./ IDLER /57  |REV.- 1




OUTER

MOUNTING BRACKET

()]
= | LABYRINTH
INNER
_________________________ LABYRINTH
—————— e e e e _— BACK SEAL
\ 175 SN
[ ~N—
A o s
A 25 2 "'B SHAFT
B ,og’ A ol 4
KT — =g
sec.B-B 3 |85} <o
RS
N
92 Wkt IDLER
TUBE
B TH B 52 40 _, 26 TSEAL -
'\b‘ | DUST SEAL CIRCLIP
& T ASSEMBLY  BRG.63062Z] Ry
g D] L - 12 THK. R AR
q B DETIAIL - A
o MATERIAL-OF ROLL | HrDE 5 F = P SReeaan
.t 8 o SHAFT @ @30 mm (C-40, IS 9550)
o
N = DEEP GROOVE BALL BEARING
BEARING SKF/FAG 6306 ZZ
ROLL MOUNTING | DROP IN SLOT TYPE
- o LUBRICATED FOR LIFE
} 100 LUBRICATION SERVO GEM EP-2

1) ALL ROLLER AND HANGER/FRAME SHOULD BE PAINTED WITH ONE
COAT OF ZINC CHROMATE PRIMER AND TWO COATS OF
SYNTHETIC ENAMEL PAINT .

2) ROLLER SHOULD BE GREASE PACKED AND SEALED FOR LIFE. ROLLER

BELT SIZE | A B @D IDLER BRG. NO
SHOULD BE PROVIDED WITH A MULTI-LABYRINTH NON CONTACT TYPE
1000 1150(1500( 127 6306 ZZ SEAL TO KEEP DUST AND MOISTURE AWAY FROM THE ROLLER BEARING.
1200 1400 1 750 1 397 6306 ZZ WATER PROOF WEATHER CAP TO BE PROVIDED AT THE ROLLER END
TO PREVENT WATER ENTERING FROM OUT SIDE ROLLER SHOULD BE
1400 1600|1950 139.7 6306 ZZ PROVIDED WITH BACK SEAL TO PREVENT GREASE ENTERING INSIDE THE ROLLER.
1600 1800(2150 [ 152.4 6306 77 3) ONE SET CONSISTS OF ONE ROLLER WITH SHAFT ASSEMBLY AND TWO M.S. MOUNTING BRACKET.
"%" URANIUM CORPORATION OF INDIA LTD. TURAMDIH MINES
L1 (A GOVT. OF INDIA ENTERPRISE, DEPT. OF ATOMIC ENERGY)
DRN. Rajesh 20.10.11 | TITLE
i RETURN IDLER
6 SKG | 05.03.14 | DIMENSION CHANGED APPROVED  SKG )
5 SKG | 25.02.14 | DIMENSION CHANGED SCALE - NTS /
REV | REV.BY | DATE DESCRIPTION DIMENSIONS IN MM \/ DRG.NO.- UCT-I/MECH/CONV./IDLER/64 IREV.- 6




IIAII

\’ i bl
SONNANNN

OUTER
LABYRINTH

INNER
LABYRINTH

TIG_WELD

BRG.30306ZZ FOR 1600 WIDTH BELT)

DETAIL - "A"
MATERIAL OF ROLL| TUBE AS PER IS 9295-1993
PROPERTIES OF | TENSILE STRENTH-180 KG/CM 2 MIN,
RUBBER REBOUND RESILIENCE:55%
ELONGATION-550 % MIN.
SHAFT @ @30 mm (C-40, IS 9550)
B DEEP GROOVE BALL BEARING SKF/FAG 6306 2Z
TAPER ROLLER BEARING SKF/FAG 30306 ZZ (ONLY FOR 1600 WIDTH BELT)
ROLL MOUNTING | DROP IN SLOT TYPE SERVO GEM EP-2
LUBRICATION LUBRICATED FOR LIFE

NOTE - 4) ALL ROLLER SHOULD BE PAINTED WITH ONE COAT OF

ZINC CHROMATE PRIMER AND TWO COATS OF
BELT SIZE | A B | @C [TuBE 0.D.xTHK.| IDLER BRG. NO : SYNTHETIC ENAMEL PAINT .
1000 380 | 412 | 152 88x6.3 6306 ZZ 2) ROLLER SHOULD BE GREASE PACKED AND SEALED FOR LIFE. ROLLER
1200 465 | 497 | 190 139x6.3 6306 ZZ SHOULD BE PROVIDED WITH A MULTI-LABYRINTH NON CONTACT TYPE
: SEAL TO KEEP DUST AND MOISTURE AWAY FROM THE ROLLER BEARING.
1400 530 | 562 | 190 139x6.3 6306 ZZ WATER PROOF WEATHER CAP TO BE PROVIDED AT THE ROLLER END
1600 600 | 632 | 190 139x6.3 30306 ZZ TO PREVENT WATER ENTERING FROM OUT SIDE ROLLER SHOULD BE
PROVIDED WITH BACK SEAL TO PREVENT GREASE ENTERING INSIDE THE ROLLER.
q&p URANIUM CORPORATION OF INDIA LTD. TURAMDIH MINES
age (A GOVT. OF INDIA ENTERPRISE, DEPT. OF ATOMIC ENERGY)
DRN, Rajesh 31.01.14 | TITLE
CHECKED
APPROVED SKG ROLLER FOR IMPACT IDLER
SCALE - NTS
REV | REV.BY | DATE DESCRIPTION DIMENSIONS IN MM DRG.NO.- UCT-I/MECH/CONV./IDLER/183 |REV.-0

A4




